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(1)  This booklet contains 100 Questions.

CBT I (Mathematics, Mental Ability, General Science & General Awareness) (100 Questions)

(2) All the questions are compulsory and carry equal marks.

(3) Before you start to attempt the questions, you must explore this booklet and ensure that it contains all the pages
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(5) Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the
relevant question number by Black/Blue ball pen only.

(6) Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be
deemed fit.

(7) Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do
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(8) Mobile phones and wireless communication device are completely banned in the examination halls/rooms.
Candidates are advised not to keep mobile phones/any other wireless communication devices with them even
switching it off, in their own interest. Failing to comply with this provision will be considered as using unfair means
in the examination and action will be taken against them including cancellation of their candidature.

(9) No rough work is to be done on the Answer-Sheet.
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CBT | (Mathematics, Mental Ability, General Science & General Awareness)

Direction 1 to 3: In the given pie-chart, the comparative study

of the production of rice, wheat, sugar and tea of a
country is given. Study the pie-chart and answer the
following questions.

What is the ratio of sum of wheat and sugar
production to difference in production of rice and tea

is:
(A)4:5 (B)5:4
(C)6:1 (D)1:6

By how much percentage the production of rice and
tea is more than production of wheat?

(A) 50% (B) 100%

(C) 75% (D) 66.6%

What is the central angle (in degree) of production of
wheat?

(A) 48° (B) 98°

(C) 110° (D) 108°

Direction 4 and 5: Read the following information carefully

and answer the below questions.

A, B, C, D and E are 5 cousins. A is twice as old as B.
C is half the age of B. A is half the age of E. C is twice
the age of D.

Who is youngest?

(A E (B)C
(C)A (D)D
A is younger than whom?

(A)C (B)E
(C)B (D)D

In a row of boys Nitin is 7 from the start and 11t
from the end. How many boys are there in the row?
(A) 18 (B) 19

(C) 17 (D) 16

Who is the author of “The Adivasi Will Not Dance”?
(A) Shekhar Gupta

(B) Hansda Sowvendra Shekhar

(C) Dr. Senayangba Chubatoshi Jamir

(D) Om Prakash Kohli

10.

1.

12.

13.

14.

15.

16.

17.

18.

19.

Rouff is folk dance of which state?
(A) Punjab (B) Bihar
(C) Gujarat (D) Jammu and Kashmir

Netaji Subhash Chandra Bose’s birth anniversary is
observed on which date?
(A) 27d January
(C) 13t January

(B) 8" January
(D) 234 January

Who commenced the construction of the Qutub
Minar?

(A) Qutub-din-aibak

(B) Muhammad-bin-Tughluq

(C) Akbar

(D) Aurangzeb

Which interchange of sign will make the equation (16
—4)x6+2+8 =230 correct?

(A) +and — (B) + and x

(C)—and + (D) +and +

The National Income of a country is

(A) The annual revenue of the Government
(B) Sum total of factor incomes

(C) Surplus of Public Sector Undertakings
(D) Export minus Import

If (=) stands for division, (+) stands for multiplication,
(*) stands for subtraction and (x) stands for addition,
then which one of the following equation is correct?

(A)19+5-4x2+=11 (B)19x5-4+2+4=16
(C)19+5+4-2x4=13(D)19+5+4-2+4=20

The price of rice decreases by 6.25% and because of
this, Varun is able to buy 1 kg more for ¥ 120. What is
the reduced rate of rice (per kg)?

(A) ¥5.50 (B)X9

(C)%6.49 (D)% 7.50

Gangotri, Yamunotri, Kedarnath, Badrinath and
Mussoorie lies in which of the given states?

(A) Uttarakhand (B) West Bengal

(C) Gujarat (D) Karnataka

Pencils are bought at 5 for ¥ 4 and sold at 4 for ¥ 5.
What is the gain percent?
(A) 55%

(C) 56.25%

(B) 45.26%
(D) 60%

A geostationary satellite has an orbital period of
roughly .
(A) 2 hours
(C) 12 hours

(B) 6 hours
(D) 24 hours

What least number must be added to 1057 so that it is
exactly divisible by 23?7

(A) 1 (B)3

(C)2 (D)4

The headquarters of East Coast Railway is located at

(A) Agarthala
(C) Kolkata

(B) Bhubaneswar
(D) Hajipur
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Directions 20 to 22: A series is given with one term missing.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

Select the correct alternative from the given ones that
will complete the series.

B; D; F;l:L; P2

(A)U (B)R
(©)s (D)T
4,18, 8, 14,12, 10, 2, ?

(A) 6, 16 (B) 16, 6
(C) 16, 4 (D) 4, 16
14, 21, 30, 41, 54, ?

(A) 61 (B) 73
(C) 69 (D) 70

The change of a solid into vapour directly is called __.
(A) Vaporization (B) Freezing
(C) Melting (D) Sublimation

If Highest Common Factor and Least Common
Multiple of two numbers are 4 and 496. If one of the
numbers is 124, find the another number?

(A) 14 (B) 18

(C) 16 (D) 13

The earth is at the least distance from the sun
(Perihelion) on

(A) 227 December (B) 3 January
(C) 4t July (D) 21stJune
pH value of human blood is

(A) 8.1 (B) 8.4

(C)7.4 (D) 9.2

If S means (-), Q means (x), R means (+) and P
means (+),then1P45R2Q2S4="?

(A) 42 (B) 40

(C) 52 (D) 50

For an astronaut in a space ship, the sky appears

(A) Black (B) White

(C) Green (D) Blue

If ' E = E, then what is the value of M /¢
3 4 7 G

(A)O (B) 1

(C)2 (D)3

Female reproductive harmones is :
(A) Estrogen (B) Progesterone
(C) Relaxin (D) All of these

There are 30 boys and 60 girls in a class. If the
average age of boys is 12 years and average age of
girls is 10 years, what is the average age of the whole
class?

(A) 10.33 years
(C) 11.66 years

(B) 10.66 years
(D) 11.5 years

A fuse wire is made of

(A) An alloy of tin and copper

(B) An alloy of tin and lead

(C) An alloy of tin and aluminium
(D) An alloy of nickel and chromium
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Direction 33 to 35: Select the related word/letter/number from

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

the given alternatives.

Tennis : Game : : English : ?

(A) Language (B) Song

(C) Hymn (D) Book
MASTER : OCUVGT : : LABOUR: ?

(A) NCDQWT (B) NDERWT
(C) NBCRWT (D) NEDRWT
TE225 1152

(A) 22 (B) 34

(C) 37 (D) 44

Radioactivity was discovered by :
(A) J. J. Thomson (B) W. Roentgen
(C) H. Becquerel (D) M. Curie

If yxix = (x\/;)x , then what is the value of x?

4 2
(A) 9 (B) 3
9 3
(C) i (D) 3

Plant cells are generally without s
(A) Ribosomes (B) Plastids
(C) Lysosomes (D) Vacuole

IfA:B=3:4andB:C=8:9, then what is the value
of A:B:C?

(A)7:12:17 (B)6:8:9
(C)3:4:5 (D)1:2:3
If P = 16 and PUT = 6720, then PICK = ?
(A) 4137 (B) 4590

(C) 4032 (D) 4752

In a certain code language, ‘MOLE’ is written as
‘3524’ and ‘FLIGHT’ is written as ‘821679'. What is
‘LIFE’ written in that code language?

(A) 2184 (B) 2814

(C) 2148 (D) 2481

In the following question, based on the given
statement which of the following conclusion(s) is/are
follow.

Statements: I. All S are H

Il. AllBareH

Conclusions: I. All S are B

Il. All H are either S or B

(A) If only | follows

(B) If only Il follows

(C) If both | and Il follow

(D) If neither | nor |l follows

At what rate of simple interest a certain sum of money
will be doubled in 15 years?

(A) 25% (B) 5—;-%

(C) 6% (D) 6%%
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A girl started walking towards west. She turned right
then right again and finally turned left. Towards which
direction is she walking now?

(A) North (B) West

(C) East (D) South

When Alexander invaded India, who were the rulers
of Magadha at that time?

(A) Haryankas (B) Shishunagas

(C) Nandas (D) Mauryas

In a certain code language, ‘BAT’ is written as ‘5’ and
‘HER’ is written as ‘4’. What is the code for ‘COW’ in
that code language?

(A)8 (B) 4

(C) 41 (D)5

6 persons are sitting in a row. They are P, Q, R, S, T
and U. R is not the neighbour of S, who is sitting on
the extreme right. T is between P and R. P is not the
neighbour of S and U. Q is between S and U. Who is
to the immediate right of P?

(A) Q (B)R

(C)S (D)T

A 150 m long train is running at 54 km/hr. In how
much seconds will it cross an electric pole?
(A) 5 seconds (B) 12 seconds
(C) 8 seconds (D) 10 seconds

A gas will approach ideal behaviour at
(A) high temperature and high pressure
(B) high temperature and low pressure
(C) low temperature and high pressure
(D) low temperature and low pressure

Direction 50 to 52: Select the odd word/letter from given

50.

51.

52.

53.

54.

55.

alternatives.

(A) Lion (B) Crocodile
(C) Camel (D) Horse
(A) ZVRN (B) uQMJ
(C) SOKG (D) TPLH
(A) BFJN (B) DHLP
(C) GIMQ (D) HLPT

Inert gases (Except Helium) comes in which block in
the periodic table?

(A) s-block (B) d-block

(C) p-block (D) None of these

From the given alternative words, select the word
which CANNOT be formed using the letters of the

given word.
SATISFIED
(A) SATIATE (B) TIED
(C) SAID (D) FIST

Introducing Rama to guests, Bhanu said, “her father is
the only son of my father”. How is Rama related to
Bhanu?

(A) Niece (B) Mother

(C) Daughter (D) Grand father

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.
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Which is water soluble is :
(A) Vitamin C (B) Vitamin K
(C) Vitamin E (D) Vitamin D

A man can do a work in 10 days. With the help of a
boy he can do the same work in 6 days. If they get
50 for that work, what is the share of that boy?

(A)X 20 (B)X 15

(C)% 30 (D)X 35

The blue colour of water in the sea is due to 3
(A) Refraction of the blue light by the impurities in sea
water

(B) Reflection of blue light by water molecules

(C) Refraction of blue sky by sea water

(D) absorption of other colours except the blue colour
by water molecules

Lalit can do a piece of work in 6 days while Vikas can
do the same work in 5 days. If the total amount to be
given for this work is ¥ 660, what will be the share of
Vikas if both do the work together?

(A) 430 (B) ¥ 360

(C) T 400 (D)% 420

Which king of the Gupta Dynasty was called the
‘Napoleon of India’?

(A) Samudragupta

(B) Chandragupta Vikramaditya

(C) Srigupta

(D) Chandragupta |

By selling 66 metres of cloth, | lose the selling price of
22 metres. What is the loss percent?

(A) 20% (B) 25%

(C) 10% (D) 15%

A and B are brothers, C and D are sisters. A’s son is
D’s brother, then how is B related to C?

(A) Uncle (B) Brother

(C) Father (D) Grand father

An amount of ¥ 950 is distributed among A, B and C
in the ratio of 5 : 11 : 3, what is the difference
between the share of B and A?

(A) X 550 (B) % 250

(C)X 200 (D) X 300

The QutubMinar was completed by the famous ruler

(A) Qutﬁbuddin Aibak (B) lltutmish
(C) Firoz Shah Tughlag (D) Alauddin Khalji

What should come in place of question mark (?) in the
following question?

40% of 265 + 35 % of 180 = 50% of ?

(A) 338 (B) 84.5

(C) 253.5 (D) 169

Who wrote ‘Akbarnama’?

(A) Abdur Rahim Khanekhana
(B) Faizi

(C) Abdul Qadir Badauni

(D) Abul Fazl
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Due to an increase of 30% in the price of eggs, 6
eggs less are available for ¥ 7.80. What is the present
cost of eggs per dozen?
(A) ¥ 5.50
(C)%6.49

(B) 3 4.68
(D)% 3.58

Who among the following Peshwas was popularly
known as Nana Saheb?
(A) Balaji Vishwanath
(C) Balaji Baji Rao

(B) Baji Rao
(D) Madhav Rao |

The product of two numbers is 192 and the difference
of these two number is 4. What is the greater of these
two numbers?
(A) 16
(C) 26

(B) 14
(D) 24

What should come in place of the question mark (?) in
the following alpha-numeric series?

P3C, R5F, T8I, V12L, ?
(A) X 16 ‘O’

(C) X 17 '™’

(B)Y 17O’
(D)X 17O’

The Arya Samaj was founded by
(A) Swami Dayananda Saraswati
(B) Swami Vivekanand

(C) Keshav Chandra Sen

(D) Ishwar Chandra Vidyasagar

If the difference between the compound interest and
simple interest on a sum of money at 5% per annum
for 2 years is ¥ 16. What is the simple interest for 2

years?
(A) X 840 (B) 2932
(C) X 520 (D) ¥ 640

The council of Ministers is collectively responsible to
the :

(A) President
(C) Rajya Sabha

(B) Lok Sabha
(D) Prime Minister

In a right angled triangle DEF, if the length of the
hypotenuse EF is 12 cm, then the length of the
median DX is?
(A) 3cm
(C)8cm

(B) 6 cm
(D) 12 cm

In the following question, based on the given
statement which of the following argument(s) is/are

strong.

Statement: Do thin clothes suit people who are over-
weight?

Arguments: l. Yes, they cling to wearer making one
look less fat.

Il. No, in thin clothes bulges become more prominent.
(A) If only | is strong

(B) If only Il is strong

(C) Both | and Il are strong

(D) Neither | nor Il is strong

What should come in place of the question mark (?) in
the following question?

J12x184+23+26-73 =7

(A) 7 (B) (77
©7 (D) (49

77.

78.

79.

80.

81.

82.

83.

84.
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In the following question, based on the given
statement which of the following conclusion(s) is/are
follow.

Statements: I. No house is an apartment.

Il. Some apartments are bungalows.

Conclusions: I. No house is a bungalow.

Il. All bungalows being houses is a possibility.

(A) If only | follows

(B) If only Il follows

(C) If both | and Il follow

(D) If neither | nor Il follows

An aeroplane flying horizontally at a height of 3 km
above the ground is observed at a certain point on
earth to subtend an angle of 60°. After 15 second
flight, its angle of elevation is changed to 30°. What is

the speed of the aeroplane? (taking J§ =1.732)

(A) 230.63 m/s (B) 230.93 mis.
(C) 235.85 m/s (D) 236.25 m/s

The proposal relating to dismissal of the Vice-
President can be presented in

(A) Any House of the Parliament

(B) The Rajya Sabha

(C) The Lok Sabha

(D) None of these

The diagonal of a cube is 2V3. What is the volume of
the cube?

(A)8 (B) 12

(C) 18 (D) 14

In the following questions given below, based on the
given statement which of the following assumptions(s)
is/are implicit.

Statements: Let us announce attractive incentives for
better performance.

Assumptions: |. Incentive schemes don’t work in
long run

Il. The performance can be improved

(A) If only | is implicit

(B) If only Il is implicit

(C) If both | and Il are implicit

(D) If neither | nor Il is implicit

The tax on import and export is known as
(A) Income tax (B) Trade tax
(C) Custom duty (D) Excise duty

If xsin 60°.tan 30° = sec 60°.cot 45°, then what is the
value of x?

(A) 2 (B)23
(C) 4 (D)4.3

Which of the following diagram best represents the
relationship between Females, Mothers and Infants?

(A) @ (B)
(©) @D (D)

O

©®
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A cricket player after playing 10 tests scored 100 runs
in the 11t test. As a result, the average of his runs is
increased by 5. The present average of runs is

(A) 45
(C) 50

(B) 40
(D) 55

Which Indian Cricketer was given the title ‘Tiger'?
(A) Mansur Ali Khan Pataudi

Railway NTPC Pre ‘

Assumptions: |. Each company has a lawyer of his
own.

Il. The company’s lawyer is thoroughly briefed about
this case.

(A) If only I is implicit

(B) If only Il is implicit

(C) If both | and Il are implicit

(D) If neither | nor Il is implicit

B) B. S. Bedi 92. Kamlesh invested ¥ 12000 in a shop and Jignesh
g
(C) Sunil Gavaskar joined him after 4 months by investing ¥ 7000. Net
(D) None of these profit after one year be ¥ 13300. Kamlesh's share in
the profit is
What is the term of the 23rd Law Commission? (A) X 9576 (B) X 1026
(A) One Year (B) Two Years (C) 24976 (D) X 5496
(C) Three years (D) Four Years
93. When was the first case of covid-19 reported in India?
Inside a triangle ABC, a straight line parallel to BC (A) January 30, 2020 (B) December 31, 2019
intersect ABf and AC at thg po(i:rjyt P and Q (C) February 10, 2020 (D) December 30, 2019
respectively. If AB = 3PB, then PQ : BC~
(A)1:3 (B)3:4 94. A computer works on an number system.
(C)1:2 (D)2:3 (A) Binary (B) Octal
(C) Decimal (D) Hexadecimal
The figure given below represents graduates, post-
graduates and officers. Which letter represents the 95. Which of the following is the only ape found in India?
officers who are graduates and post-graduate both? (A) Chimpanzee (B) Hoolock Gibbon
Graduates / Post-graduates / (C) Mandrill (D) Gorilla
96. Where was the India Bio-Energy & Tech Expo 2024
v organised?
(A) Mumbai (B) New Delhi
v (C) Kolkata (D) Hyderabad
Officers / 97.  Where did Indian shooter Dhanush Srikanth win three
- , gfm gold medals in 2024?
(C) E (D) E (A) Hanover, Germany (B) Paris, France
(©) (D) (C) Tokyo, Japan (D) Sydney, Australia
Eamla ce(;n rogs at certt'?in distar(;get doqut;esarr]n in 1% 98. In September 2024, which country did Prime Minister
DLIS S13 CElga L T Setlllis Uencllice I k] Narendra Modi become the first Indian PM to officially
the stream flows at the rate of 6 km/hr, what is the R ¥ :
5 il visit for a bilateral trip?
speed of boating of Kamla in still water? (A) Borneo (B) Bahrain
(A) 24 km/hr (B) 18 km/hr (C) Timor-Leste (D) Brunei
(C) 30 km/hr (D) 32 km/hr
In the following questions given below, based on the - i e i :
. tat t whichie the follow ti (A) Bilirubin (B) Haemoglobin
igsll\gerr; is;pﬁ(r:r&en which of the following assumptions(s) (C) Urochrome (D) Cytochrome
e A A S NS, g, R
y y paly's iawyel: (A) bacterial disease (B) viral disease
(C) protozoan disease (D) nematode disease
Space for rough work
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ROLL NO. MOBILE NUMBER Important Instructions -

LU0 DUOO0OOOO0 i =
222322(|23828233383|| coec ozce -
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(OJORONORO) R =
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8| @ ® © @ (2 @ ® © @ (|8 ® & © @ 68| @ ® © @ 8 @ ® © © -
s ® ® © @ 2 ® ©® © O ||(eop® ® ©@ @ 8l @ ® © O 8 ® ® © @ :
0 ® 6 0 O ||®E® © O ||%0] @ ® © @ n® 6 0 O 0 @ ® © @ -
"N ® 0@ |(|1®@EBE@ O ® ® 00 |In® G © G M ® ® © © -
2 ® 6 © O 2 ® 06 O0W@|[(s2®® © @ 7 ® 6® 0 O® 2 ® ® © @ :
B3 ® 6 0 O Bl @O E O© O |83 ®E® 0 O B ® 6 © O B ® ® © O :
“ @ @ 00 || ®@WE © O ||« ®E® © @ 1" ® 6® © O U ® ©® © @O —
5 ® ® © @ B @D ® © @ |(s5 ® ® © @ B ®® © @ 5 W ® © @ :
68| ® ® © @ |36 ® ® © @ ||s6] ® ® © @ | ® ® © @ N@@@:
7T ® 6 © @ 7@ E® O© @ || @@ E® ©@ @ n® ® © © 7/ ® ® © © :
B8 @ E® 00O ||33 ®@@® © © ||ss8 ® ® © © B ®G® © % @ ® © © -
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